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������� 2 
!���"�����#�����!��$�� � ���!� (SWOT Analysis)  

23�!34��5�����36 ! 
 

2.1 �� �����4� ������!����3�7!�������"�4�8�����23�������34� 
 ���������	
����
����������������
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�

!? �6��3������3������ �P�$���
�-6P���-� �

�P�$���
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P��1�0-� �	.��.  �����< 
 

2.1.1 ������ �!��23�������7#���� �9:���

�"!��
23�9:�������;7��������4� � ��.��. 

���!
������������6����5;�0-�!?���//������

!?�6��3�����
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��;��2���"���, �	.��. ���
��3�����������6����,�"� �����3 
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!��������"�23�
���
����!���"?�4 

23�<�=�� 

!��������"�23�
���
����!��<�=��23�
���4� 7������34� 



 7 
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2.2 !���"�����#� SWOT � � ��.��. >��D�
�����$ <.8. 2554 

 !?�/��5���

/"�
��� �	.��. ����3�6���������
5��P�$���
�-6
P��1��

P���-� (SWOT) 0-� �	.��. 1����	�
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���6���
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�"�#��

�!�	C�/�����2��� �	.��. �6+,-�����, 26 �"
��6 �

 
9 $T������� 2552 �$+,-���0�-6?
�	12�1�����/����������

	�
��;�
�"�#������0-� �	.��. 1�	4�/	�
6�B $.�. 2554 �

6�!
��"	  �����<  
 
�@�<2�73� �@�4>�  

?�72�G� ?�7 � � 
7��� ���!� 

- 
 
7���!��
�"#��?�7!�� 
1 .  � 	. � 5�3 � � � � ��
 � � � � �
	� 
�������� ��  ��� .  ��, 6�
	�
���#�P�$ 6�/�/���2+,-6���
�

/?�B������/5�3�������<�
P � � 1 � � 
 
 P � � � - � �� � �� �
��
����  ��6��< �5�3 � ����
���+-03�� 
 

7��� ���!� 
1. ����������

-�������
������63
�-��
�-���/P����� 
7���!��
�"#��?�7!�� 
1 .  � 
 / / � � � 	 � 
 � 6� � � � � 6 ��
���62-/0-�/" �
����� � �63 6�
	�
���#�P�$ 
2. �
//�?�1�1�������U�/"�
�����,
6����6��6��@����63�$���$-  
3 .  � � � / �� 5 � � �� � � � � 0� - 6? 

������������636�	�
���#�P�$ 
4. ����+,-���/	�
2���6$��#��


�!��$�30�-6?
����63�$���$- 
5 .  � � � �� � 5 � � 6 � � � W � � � � �
	X�/����������63��/�"�������65
��  
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�@�<2�73� �@�4>� (�� ) 
?�72�G� ?�7 � � 

7���
��3�!� 
1. /"�
����3��15736����6�?�  ���U
 
���6��6��@1����	C�/������ �

6�
���������,���3-����	
�,���	
� 
2. !?�/��5��1 6�
��UB
�����������,
�	.�	�
2�#�	��� �3�����6���������
�	.���6 6������,������,2����� �

6�
���6�?��

	�
�/���B����� ���. 
7�������"�5"@�<7���!����"� 
1. �
//��������������!� �����/	�
6�B 
�

�����������6�	�
���#�P�$ 

7���
��3�!� 
1. /"�
���/���3�����0�����
$�8����65
���6��@�
 
 

 

�@�<2�73� �@�4� ! 
� !�� �� ?��!�7 

7���!����6 �/��4
�4/!A#��4 
1. ���/�����$�8������ ICT 
�	[��-���15�	�
2�2���6��@
�0��@:� ���. ����
���0:<� 
2. �!�$�8�����UW����

����6
�53�2��� \/�/��, 10 ($.�. 2550-2554) 
�������	��/������������!
��������
�

/���������W�����6�?��


���6 �	. � ����� � 15�  ��� .  6�
/�/��6��0:<� 

7���!����6 �/��4
�4/!A#��4 
1. ����	
�,���	
���W/�
/3-�
�

����6+-�0����@���P�$  6�
!
���15���������������63�	.�
�
//�

0�����6�3-��+,-� 
2. ���������-�������
��0����2���6�
!
��
�/�3-����� � ���0-� 
�	.��. 
 

��������:  1 !?�/��5�� 56��@:� !?���,���������5�3�1��
��/ 9, 10 �
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�@�<2�73� �@�4� ! (�� ) 
� !�� �� ?��!�7 

7���!����6 �/��4
�4/!A#��4 (�� ) 
3. ��W/�
6����/��15���-�@�,�/ 
2"62���6��@$�8�����-����
6��0:<� ���15� ���. 6�/�/��1�
��������6?
�3��$�,61�P�����
!
��/���UW���2"62� �23� 6��3��
1����23����������1��?	0-�
���!
�� ���$�8��!
��P�B_�
2"62�15�6��"BP�$ 
4.  $.� ./ .  �
�/��/0����2���
$
��+-� $.�. 2551 6������
���
-�����15��3����2�����6��@
/ �� 5 � � � �� $ � � � � /" � � 
 � 
 

-���������6��0:<� 
5. $�
��2�TUX����3��������
/��5��������5����

�
"36���5���
�///?�B�������5��15�6����
����� ��!�$�8���� �5��� /�
"3 6
���5��� �

�!�	C�/�����2���
	�
���	40-����5���/�
"36���5��� 
���15� ��. ��6��@12��	.�23-����
1�����������2��/?�B�����
5�3��
��
������/���5���/�
"36���5��� 

7���!����6 �/��4
�4/!A#��4 (�� ) 
3. 5
����B_���#�����

������
	C� /� �� � ��, � ��� /� � �/ �� 5 � �
���$����/"��
��,��������� 
�.$. --���6 $.�./. �
�/��/
0����2���$
��+-� $.�. 2551  
�$+,-15��3����2�������		C�/���
/���3������632����� 
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�@�<2�73� �@�4� ! (�� ) 
� !�� �� ?��!�7 

7���������34� 
1. 	�
��;����6������ ���6 
����5��� �

����	
�,���	
�
������
���	.��-���1����	�
��� 
�$+,-!
��������/�� ���. 
7����8�BC!"? 
1. P��
����03�0��0-�P�����
!
�� ���15�!?�	�
�-/�����-�5��
6�$:,�$�������
��6��0:<��$+,-

�����"����!
�� 
7�������"4� �����23���=�5��� 

- 

7���������34� 
- 

 
 
 
7����8�BC!"? 
1. ����������/	�
6�B0-�
	�
������� �. �

 �. -�?31�
-����/�,�� 
 
7�������"4� �����23���=�5��� 
1. ����6���0�����6��
5���
�

���12�	�
��2����� ���. 
2. ���"3�1563��1�������������
�����������-�B��������
�
� 

 

����� :  6���B
���6����!��
�"�#��

�!�	C�/�����2��� �	.��. �6+,-�����, 9 $T������� 2552  
          B 5�-�	�
2"62�<� 4 -����$�
�-6��
�� �	.��. 9:,��3�� 	��.��. 15����6�5;�2-/ 
          ��6/���:���, �� 0203.2/5213616 
������, 13 $T������� 2552    
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2.3  !��!��#�7!34��5��74 SWOT Matrix 

���!
���������
5� SWOT 0-� �	.��. 1�	4�/	�
6�B $.�.  2554 
��6��@���6������ SWOT Matrix �$+,-���5���
�"�#�0-� �	.��. ��������<   

2.3.1  !34��5�#3�! (SO Strategies)   
 
 
 
                                                      
                     �@�<2�73� �@�4>� 
 
 
 
      
 
 �@�<2�73� �@�4� ! 

?�72�G� (S) 
1. �	.�5�3������
�����	�
���������� 
���. ��,6�	�
���#�P�$ 6�/�/���2+,-6���
�

/?�B������/5�3�������<�P��1��


P���-���������
���� ��6��<�5�3�����
���+-03�� 
2 .  /" �
 ����3 �� 1 573 6� � ��6�?�  �� �U 
  
���6��6��@1����	C�/��� ��� �

6�
���������,���3-����	
�,���	
� 
3.  !?� /��5��6�
��UB
����� ������, �	.�
	�
2�#�	���  �3�����6����������	.���6  6�
�����, ������, 2� � ���  �

6� ���6�?� �
 

	�
�/���B����� ���. 
4. �
//��������������!� �����/	�
6�B 
�

�����������6�	�
���#�P�$ 

� !�� (O) 
1 .  	 � 
 ��; ����6�� � ���  ��� 6 
�� � � 5 �� � � 
 
 � � � � 	 
�, � � � 	 
 �
������
���	.��-���1����	�
���
�$+,-!
��������/�� ���. 
2. ���/�����$�8������ ICT �	[�
�-���15�	�
2�2���6��@�0��@:� 
���. ����
���0:<� 

!34��5� 
1. $�8���
�����/��5���������$+,-���
	�
����2+,-6�����,6��-�P�$��/5�3�������<�
P����W�

�-�2� ��6��<���������6�3�66+-
��/�3 � �	�
����$+, - �$�, 6 �-���1����
�
��	
�,��-������6�?� �

���$����1�
�3��	�
���    
(S1+O1+O3+O4+O6+O7+need)  
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2.3.1  !34��5�#3�! (SO Strategies) (�� ) 
� !�� (O) (�� ) 
3. �!�$�8�����UW����

����6�53�2��� 
\/�/��, 10 ($.�. 2550-2554) �������	��/
������������!
���������

/���������
W�����6�?��

���6�	.����  ���15� ���. 6�
/�/��6��0:<� 
4. ��W/�
6����/��15���-�@�,�/2"62���6��@
$�8�����-����6��0:<�  ���15� ���. 6�/�/��
1������� ��6? 
�3 � �$�, 6 1�P�����!
�� /
���UW���2"62� �23� 6��3��1����23�������
���1��?	0-����!
��  ���$�8��!
��P�B_�
2"62�15�6��"BP�$ 
5. $.�./. �
�/��/0����2���$
��+-� $.�. 
2551  6������
���-�����15��3����2���
��6��@/��5�����$����/"��
�

-������
���6��0:<� 
6. P��
����03�0��0-�P�����!
��  ���15�
!?�	�
�-/�����-�5��6�$:,�$�������
��6��
0:<��$+,-
�����"����!
�� 
7. $�
��2�TUX����3��������/��5�����
�� �5�� ��
 
�
"3 6 �� � 5�� � �///? �B��� �
���5��15�6�����������!�$�8�����5���/�
"36
���5���  �

�!�	C�/�����2���	�
���	40-�
���5���/�
"36���5���   ���15� ��. ��6��@12�
�	.�23-����1�����������2��/?�B����
�
5�3����
������/���5���/�
"36���5��� 

!34��5� (�� ) 
2. $�8���
//���������

W��0�-6?

�$+, - 12� 1����/��5���

 �	.�23 - �
�������0��@:��5
3�0�-6?
�

���
/��������� ���. 0-���
���� 
(S1+S2+O2) 
3. ���/��"�15�!?�	�
�-/����

2"62�
12�  ���. �$+,-	��/	�"����!
���


/����� �

������������6�"BP�$2���� 
(S1+O1+O3+O4+O6+O7+need) 
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2.3.2  !34��5��<6� !��<�=�� (WO Strategies)     
 
                            
                          �P??�4@�4>� 
 
 
 
 
 
     �P??�4@�4� ! 

?�7 � � (W)  
1. /"�
���/���3�����0�����$�8����6
5
���6��@�
 
2. ����������

-�������
������63�-��
�-�
��/P����� 
3. �
//���	�
�6�����6�����62-/0-�
/"�
�������636�	�
���#�P�$ 
4.  � 
//�? � 1� 1������ �U�/"�
�����, 6�
���6��6��@����63�$���$-  
5. ���/��5��������0�-6?
������������636�
	�
���#�P�$ 
6. ����+,-���/	�
2���6$��#��

�!��$�3
0�-6?
����63�$���$- 
7. ������5��6���W�����	X�/����������63
��/�"�������65
�� 

� !�� (O) 
1. 	�
��;����6������ ���6����5���
�

����	
�,���	
�������
���	.��-���
1����	�
����$+,-!
��������/�� ���. 
2. ���/�����$�8������ ICT �	[�
�-���15�	�
2�2���6��@�0��@:� ���. 
����
���0:<� 
3. �!�$�8�����UW����

����6�53�2��� 
\/�/��, 10 ($.�. 2550-2554) �������
	��/������������!
���������

/�����
����W�����6�?��

���6�	.����  ���15� 
���. 6�/�/��6��0:<� 

 
 

- 
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2.3.2  !34��5��<6� !��<�=�� (WO Strategies) (�� )     
� !�� (O) (�� ) 
4. ��W/�
6����/��15���-�@�,�/2"62���6��@
$�8�����-����6��0:<�  ���15� ���. 6�/�/��
1������� ��6? 
�3 � �$�, 6 1�P�����!
�� /
���UW���2"62� �23� 6��3��1����23�������
���1��?	0-����!
��  ���$�8��!
��P�B_�
2"62�15�6��"BP�$ 
5. $.�./. �
�/��/0����2���$
��+-� $.�. 
2551  6������
���-�����15��3����2���
��6��@/��5�����$����/"��
�

-������
���6��0:<� 
6. P��
����03�0��0-�P�����!
��  ���15�
!?�	�
�-/�����-�5��6�$:,�$�������
��6��
0:<��$+,-
�����"����!
�� 
7. $�
��2�TUX����3��������/��5�����
�� �5�� ��
 
�
"3 6 �� � 5�� � �///? �B��� �
���5��15�6�����������!�$�8�����5���/�
"36
���5���  �

�!�	C�/�����2���	�
���	40-�
���5���/�
"36���5���   ���15� ��. ��6��@12�
�	.�23-����1�����������2��/?�B����
�
5�3����
������/���5���/�
"36���5��� 

 
 

- 
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2.3.3  !34��5��4�4��� (ST Strategies) 
 
                            
 
 
                            �P??�4@�4>� 
 
 
 
 
 
 
     �P??�4@�4� ! 
 

?�72�G� (S) 
1. �	.�5�3������
�����	�
������
���� ���. ��,6�	�
���#�P�$  6�/�/��
�2+,-6����

/?�B������/5�3�������<�
P��1��

P���-���������
����  
��6��<�5�3��������+-03�� 
2. /"�
����3��15736����6�?�  ���U
  
���6��6��@1����	C�/������  �

6�
���������,���3-����	
�,���	
� 
3. !?�/��5�� 6�
��UB
�����������,�	.�
	�
2�#�	���  �3�����6����������	.�
��6  6������,������,2�����  �

6����6�?�
�

	�
�/���B����� ���. 
4. �
//��������������!�  ����
� / 	 � 
 6 � B   � 
 
 �� � � � � � � �� � 6�
	�
���#�P�$ 

�� ?��!�7 (T) 
1. ����6���0�����6��
5����

���12�
	�
��2����� ���. 
2. ����������/	�
6�B0-�	�
������� 
�. �

 �. -�?31�-����/�,�� 
3 .  ��� �	
�, ���	
��� W/�
/3 -��


����6+-�0����@���P�$  6�!
���15����
�����������63 �	.��
//�

0�����6
�3-��+,-� 
4 .  ����� ����-������ �
� �0� � ��2���6�
!
��
�/�3-���������0-� �	.��. 

!34��5� 
1. �3�����615��
"36�	A�56��6��3���3�61�
������6���� ���. �$+,-15������������
�

���6��
5������� ���. 
(S1+T1+T2) 
2. ����6��������6�?����� ���. �$+,-���
������?�0-��
"36�	A�56�� 
(S1+T1+T2) 
3. ���/��"����
�������� ���. 15�6�
���U
���������
5� ����� 
(S1+T6+need) 
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2.3.3  !34��5��4�4��� (ST Strategies) (�� ) 
�� ?��!�7 (T) (�� ) 
5. 5
����B_���#�����

������	C�/���
���, ����/���/��5�����$����/"��
��,
��������� �.$. --���6 $.�./. �
�/��/
0����2���$
��+-� $.�. 2551  �$+,-15��3��
��2�������		C�/���/���3������632����� 
6. ���"3�1563��1������������������������ - 
�B��������
�
� 

 
- 

 

 

2.3.4  !34��5����
���� ���!� (WT Strategies)   
 
                            
                                   �P??�4@�4>� 
 
 
 
 
 
 
     �P??�4@�4� ! 
 

?�7 � � (W)  
1. /"�
���/���3�����0�����$�8����6
5
���6��@�
 
2. ����������

-�������
������63�-��
�-���/
P����� 
3. �
//���	�
�6�����6�����62-/0-�
/"�
�������636�	�
���#�P�$ 
4 .  � 
//�? � 1� 1������ �U�/"�
�����, 6�
���6��6��@����63�$���$-  
5. ���/��5��������0�-6?
������������636�
	�
���#�P�$ 
6. ����+,-���/	�
2���6$��#��

�!��$�3
0�-6?
����63�$���$- 
7. ������5��6���W�����	X�/����������63
��/�"�������65
�� 

�� ?��!�7 (T) 
1. ����6���0�����6��
5����

���12�
	�
��2����� ���. 

 
- 
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2.3.4  !34��5����
���� ���!� (WT Strategies) (�� ) 
�� ?��!�7 (T) (�� ) 
2. ����������/	�
6�B0-�	�
������� 
�. �

 �. -�?31�-����/�,�� 
3 .  ����	
�, ���	
��� W/�
/3 -��


����6+-�0����@���P�$  6�!
���15����
�����������63�	.��
//�

0�����6
�3-��+,-� 
4.  ���������-�������
� �0� ���2���6�
!
��
�/�3-���������0-� �	.��. 
5. 5
����B_���#�����

������	C�/���
���,����/���/��5�����$����/"��
��,
��������� �.$. --���6 $.�./. �
�/��/
0����2���$
��+-� $.�. 2551  �$+,-15�
�3����2�������		C�/���/���3������63
2����� 
6. ���"3�1563��1������������������������ 
- �B��������
�
� 

 
 
- 

 
 
 

 
 
 
 
 
 
 



 19 

2.4  �"��4��8��23�<��5!"?� � ��.��. 
!?�/��5���

/"�
��� �	.��. ����3�6���$����B�0�-�������



!
���������
5� SWOT �$+,-���5������������0-� �	.��. �����<    
 
 
 
 

  

�����������������
3�� ������5��$��#��� �$+,-12��	.���-/������1�
���	C�/������15�/��
"���66"3�6�,���6������������,���5����� �����< 

<��5!"? 
1) ���-��
���/�� 	�
��� �

�������"�#�������

�!� 

	C�/������0-���
����  
2) �3�����6 ���/��"� �

!
��������$�8�����
���� ���@3���-�

������
�� ���������

$�8�� ���$�8�����������$+<�W�� ��6��<�
�����������6��
5������������������ ������
�� �

�������6 

3) �����/ �����6 �

	�
�6��!
���	C�/�����2���0-�5�3�����1�
������0-���
���� ��6��<�������
//���/��5����������,�� 

4) �������

/��5�����$����0-���
����15��������6	�
5��� 
�"�6�3� ��6��<�$�8��	��/	�"��X56����,���,��0�-�15�����6�� 

5) $�8���
//������
���������� �$+ ,-12�1����/��5���


/�����0-�5�3�����1������� �

�	.��?���0�-6?
���������������  
������
�� �

�������6 

6) ���5���������

���������6�3�66+-�
5�3��	�
���1���-/
P�����0-���
���� 

�"��4��8�� 
Q���� ���!����>�!��
�"#��?�7!���<6� <�=���"�4�8����� 

������34� 23�����!���R 
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2.5  ����"4� ���!� 
�	.��. ������5���3����6-�������� 8 	�
��� �$+,-�	.�5
��	C�/���1�

���������  �+-   
1) 6���"���� (Morality) 
2) ���6"3�/����� (Service Mind) 
3) �������$+,-	��2� (Efficiency) 
4) 6��
�����6�?� (Learning Organization) 
5) �
���?��$+,-5
����� (Integrity) 
6) �+,-����	�3�1� (Accountability) 
7) �3�61��������6 (Team Work) 
8) 6�2����$-�$��� (Self-Sufficiency)  

 

2.6  �P??�42#�����������G?� �!�����!34��5����T"
��" 
-  ����������/	�
6�B�-��
�-���/�
�"�#� 
-  �	A�56���
��/
3���-��
�-���/�	A�56���
��//� 
-  ��8�#��6-�������,�� �23� ����1��3-��� ��6����23���5
+-��� ���6-�

������/�?���/�
"36-+,�u ��6+-��	.�
?����P��1� 6����������?��
-���
� �/3�	Q�
���6�?� 

-  /��5���

$�8�����$����/"��
��,6�	�
���#�P�$ 
-  12�/"�
�����,6����6��6��@�����//�/����,�����/6-/56�� 
-  ���������$+<�W����,�-+<-�3-����������

	�
������ �23� �
//

/��5���

�����6���-����6��� (workflow) �
//�+,-���P��1�  ������
��,����
�-6��������� 

-  ������������?�1� -��1��?	���� �/���  �23� 	�
�����������"B  
�3��	-/�6��,6��"B�3�/�$�,6�"B�3� 
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2.7 ����7G�4��58����� 23���V��������� �29�/��V�#��4

!��>#�
�"!��� � ��.��. 
 

���!
���������
5� SWOT 0-� �	.��.  �������� SWOT Matrix ���
���5������������ $��#��� �

�3����6-����� ������6�$����B����5��	�
��;�
�"�#������ �

�	A�	�
����0-��!�/�	A�56�����15�/�����0-� �	.��. ���  �����< 
 

 

����7G�
4��58����� 

��V��������� �
29�/��V�#��4
!��>#�
�"!�� 

���W�X��7��V�������� !34��5� 

•••• ����7G�
4��58�����
��� 1   
���$�8�� 
���/��5��
���������� 
����������� 
������
�� 
�


�������6  
 
 
 
 
 
 

••••  ��V�������� /
��V �#��4!��
>#�
�"!����� 1 
5�3�����P����W
�

�-�2�6��
��
���	�
������
�

���/��5��
���������� ���. 
��,6��-�P�$ 
 
 
 
 
 
 
 

���W�X��7 1.1  
��-�

0-����/��/ �!�/ 
6������/�X56�� 
�
�/��/0�-/����/����	12�
	�
��2���

	C�/���������� 
(��-�

) 
���W�X��7 1.2  
����������������6�3�66+- 
���� ���. �
5�3��	�
�����,
6�������6�3-��+,-�-�3���	.�
�?	#��6 ���6��!�	C�/���
����-���/�

6���������6
	�
�6��!
  (�������) 
���W�X��7 1.3  
�
��/���6�����;�0-����
$�8���"BP�$���/��5��������
�����6�	A�56�� (�
��/) 

!34��5� 1 
$�8���
�����/�� 5 ��
�� ���� �$+, -���	�
���
�2+, -6�����, 6� �-�P�$��/
5�3 �������< �P����W�


�-�2� ��6��<���������6
�3�66+-��/�3��	�
����$+,-
�$�,6�-���1�����
��	
�,��
-������6�?��

���$����1�
�3��	�
���    
!34��5� 2 
$�8���
//���������


W��0� -6? 
 �$+, - 12� 1����
/��5���

�	.�23-�������
�0��@:��5
3�0�-6?
�

���
/�� � � � �� � �  ��� .  0- �
��
���� 
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����7G�

4��58����� 

��V��������� �

29�/��V�#��4

!��>#�
�"!�� 

���W�X��7��V�������� !34��5� 

•••• � � � � 7G �

4��58�����

��� 2   
� � � $� 8 � �
���
��������
�����������  
� � � � � � 
 �� 
�

�������6  
 

••••  ��V��������/

� �V � # � � 4 ! � �

>#�
�"!����� 2 
���
�������� ���. 
�����/�������6�����
���6��6��@���
� � � �: � U �  � $+, -
$� 8 � � � 	. � W � �
��������/��������1�
��0���, �	.����6
��-����0-�	�
��� 
 

���W�X��7 2.1  
��-�

0-�!?������/���
���/��"�����:�U�1�
�
��/-"�6�:�U����� �. 
�

 �. ��,�/����:�U�
�

�����������6
��0���2� (��-�

) 
���W�X��7 2.2  
��-�

0-���������1�
������� �6�. �0��
�:�U��3-1��B
��2���,
���,��0�-����� �. �

 
�. (��-�

) 

!34��5� 1 
���/��"����
�������� ���. 
15�6����U
���������
5� ����� 
 

•••• � � � � 7G �

4��58�����

��� 3   
����3 � ���� 6
15� �������6
��
5����


���/��"����
� �� � � - � ��
� � �6 �?� �� � �
�����������  
� � � � � � 
 ��  
�

�������6  

••••  ��V��������/

� �V � # � � 4 ! � �

>#�
�"!����� 3 
�
"36�	A�56��2  6�
���������,���3- ���. 
 

���W�X��7 3.1  
������!?��0���3�6
������6���� ���. 
(
������) 
 

!34��5� 1 
�3�����615��
"36�	A�56��6�
�3 ���3 �61��� ����6�� �� 
���. �$+,-15�������������


���6��
5������� ���. 
!34��5� 2 
����6��������6�?����� ���. 
� $+, - � � � � �� � � �?� 0 - �
�
"36�	A�56�� 

��������:  2 �
"36�	A�56�� 56��@:� 	�
2�2���,��	 ��6��<���;��

����2� 
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����7G�
4��58����� 

��V��������� �
29�/��V�#��4
!��>#�
�"!�� 

���W�X��7��V�������� !34��5� 

• �� � � 7G �
4��58�����
��� 4   
���@3���-�
������
����,
� - / � � - �
���6��-����
0 - �
�
"36�	A�56��    

••••  ��V��������/
� �V � # � � 4 ! � �
>#�
�"!����� 4 
!?�	�
�-/����


2" 6 2 � � �� �� �
������
���	12��$�,6
6?
�3� 
�����3�� 
� $�, 6 � � � � �� � 
 

$�8���"BP�$2���� 

���W�X��7 4.1  
�������@��	�
�-/���
��,12�!
���������


$�8�� (���) 
 
���W�X��7 4.2  
������������6/
���������,5�3�����1�
���������!
����	
@3���-�������
���?3
2"62�/ ���5��� 
(������6/�������) 

!34��5� 1 
���/��"�15�!?�	�
�-/���
�

2"62�12�  ���. �$+, -
	��/	�"����!
���

/����� 
�

���������6�"BP�$2���� 

��������:  3 �
"36�	A�56�� �����3 !?�	�
�-/��� �

2"62� 
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������� 3  
 

!�����29�!34��5� ��.��. 
(<.8. 2551 - 2554) 
;��:�!���T"
��">�

�D�
�����$ <.8. 2554 
 
 
 
 
 
 
 


